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run_13094016 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13094016 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13094016 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 305:47:14 2012
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run_13094016 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
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run_13094016 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 3 05:46:40 2012
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run_13094016 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 305:47:14 2012
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run_13094016 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 3 05:45:07 2012
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run_13094016 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13094016 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 305:47:15 2012
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run_13094016 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 3 05:45:11 2012
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run_13094016 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 05:46:42 2012
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run_13094016 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 05:47:16 2012
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run_13094016 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 3 05:45:15 2012
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run_13094016 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 05:46:44 2012
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run_13094016 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 305:47:17 2012
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run_13094016 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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